ESERCIZI SU CONFORMAZIONI A SEDIA:

1. Draw the most stable conformer of

Me Me
-~ N OH £ : ~0H ‘ :
g_'-Pr £—Pr

menthol neomenthol

2. In each of the following predict whether Kgq is about equal to, greater than, or less than one:

a. rrans-1.3-diphenylcyclohexane "flipped" conformer

b, Pr —<:>—— n-Pr — "flipped" conformer

(if i-Pr is equatorial)

HMe "flipped" conformer

Et



SOLUZIONI:
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1. most stable conformer: Me Me
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2.a Pw - m degenerate structures (same energy)
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> 1_3-diaxial interactions => less stable conformer
therefore, Keq < 1
H
H
c. e = m}{
Et
Et Me

larger ethyl group in more stable equatorial position
therefore, Koy > 1



